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— STMN DY WA BY YTAT
For they decreed 7Xn W concerning its soil and its air

OVERVIEW

The Xm0 of a deceased person is more stringent than many other mxXmuv. A
ma is not only Xnwn if you touch him or carry' him, it can also be ax2 Xnun.
If one is under the same roof as a n» or one hovers directly over a n», he
becomes a nn Xnv. There are however some qualification to the laws of
nn nxmv. It cannot be Xnvn even XWn21 van1 unless it is at least the size of a
grain of barely. Similarly it cannot be 2782 Xnvn unless there are specific
quantities of the n» present.

nooIN asks:
= 19 0 mwn a prn) MY NIDNAT VY INT aApy’ *29 290 NYPN

apy° ' of Orleans asked; we have learnt in a 7w in n»IR novn:
- DYAYN NINY NPV DY SN PRNVM PRI NUNDI ¥ PRNVM 1IN

‘And these are the things that cause 182 by touching or carrying them,
however they do not cause ;I8 ‘in a tent’.” These items include a bone
of a deceased person the size of a grain of barley’ and the lands of the

nations’. This concludes the quote from the 7awn. We see from the mwn that if one is
27X on DAYA PR he is not Xnu. Our X3 clearly states that the MK of DY PN is XN,

N1B0IN answers:
- NV KT 19Y 95NN YINY NYIND XAN 0¥ 59907 XM

And the v"1°57187 > answered, that the 71wn in M>7X when it mentions 79X
o°ny7 it is referring to earth that came from 'y to *""X and therefore one

who is 9578% over this clod of earth from "7 does not become X»W. The
reason is -

- 2unn by DIANND DIYN XYY 19T IS 9IN DIVNY
for they decreed nxn1w on the air of 5" itself and not because he is 2>r1x»

" One can carry an object even though he is not actually touching it; i.e. it is covered in a cloth, etc.
% If one finds himself in the same tent with these objects he is not X»v, provided he does not touch them.
Similarly if his body hovers over these items he is not Xnv.
? For bones of a deceased to be 97xa Xnwn, larger quantities of the n»7 nMney are required. Bones smaller
than a 77YW are not XML even XYNI ¥,
* The w"w" amends this to 7xm1.
> See previous X9X 71"7 Moo, See “Thinking it over’.
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on the earth. There is no A8 nxmw on o°ny7 IR, Therefore if one brings a clod of
earth into °"X, and someone hovers over it, or is in the same room with it, he is not v
since the 021 were not XMV IMX on DAY IR 1R because of 21k, only because of the
5" 9K itself. This person was merely 2°7%» on the w3 of 2y ¥R, he was not in the
IR of 2mya vIX therefore he is M7V, Our X3 that says 27¥7 YIR IR 1s XN is
referring to the actual "X of 5" itself in 2"r.

moon is dissatisfied with this answer:

= 19 ¥IWYN DY NIN PYY PN
However, the phrase 2°»y7 v9X does not indicate as such; that we are
referring to a clod of earth from 2"n. Rather, the phrase 2y 79X in the mwn, refers to
actually being in 0»y7 vIX. The question therefore remains how can we reconcile that
7I1wn with our X11?

mooIn offers an alternate explanation in a similar vein.
= AW IN 9T UIY 11D 299ONT 990 W IN
However, one may say that the mIw» in M?7X that exempts 2°nv;73 YK from
278 XM is discussing for instance a situation where there is an overhead
plank or bridge -
= NINAY YUNY NN 095 DINNIMI YIND NYINA 1IWH YN YINA THN IUNIY
That one end of this plank is in >""X and the second end is in %" and
there are utensils underneath the 'R end of the plank, the 71wn teaches us that
in this case even though the other end of the plank is in ™n, and the utensils are under

the same 77X as 0 Vi1 7OX, nevertheless —

- ©999110) 190y NNMIV NYaN PN
It does not transfer any 8= to the utensils and the utensils remain =37w.
The miwn is teaching us as the w"118M " stated previously that 2on¥7 IR IR DRV is
not on account of 2°1Rn. It is a XMWY on the 7K itself. Therefore even if you are in an 91
that is (partially) 2°7&n on 2277 PO, as long as you are not in 21y v itself, there is no
Sy paX MR NRMY.

mooin offers a different approach:
= PYNY 2299 MIPINT RIINR N9 191 WD DY 9NN DIV ON 523 ON

Or you may also say; even if we assume that the reason 2297 7R X is
Xnv is because they decreed nxmw on 2°nY7 YOXR 7K since he is 982 on

% The advantage of this bws over the one proposed by w"1271K7 > is that here we are discussing 2°av:1 X
itself, as opposed to the previous w5 where we were discussing a clod of earth brought from 2 nya y2X.
However the central theme is the same.
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the soil, nevertheless we can understand why the 7awn in MK states that
DoAY YOR is not 9nR2 Xnvn. For we can establish that this particular miwn

follows the ruling of wnw ' -
- HANA PNHVN PN D29ID S72IY $925D INT

Who maintains that the graves of gentiles do not cause 821 through an

"HRN -
= MYY 022913 1 TY 92PN AN DINYN YIN KY 1NINN X

And the 2°»017 were no more stringent on 2°2¥:7 Y98 more that the graves

of 2'"1op themselves. Since there is no 9% R by 0"2y 2P there is no 2 NRMW
by oy vIX either. We assume that only 2™2¥ may be found in the soil of 2nyn yIX.
Our &3 however, that maintains there is 2V 7R 7" NXMY disagrees with 1wnw " and
follows the view that there is 27X n¥MW by (332772) 2™5Y *3p and therefore by extension
also to 0¥ 7R,

mooIn gives an additional answer:
= IN DY 1INV 0P MIYN XONNT 0N 1929 XN T

In addition the n''2 answers that the 71w in N%3X, which maintains there
is no 77X XMWY in D7Yn IR, was taught before the 051 made a 77913 on

the air of >"n. There was only a 77°Tx on 7w, therefore the 71wn stated that it is not
21N Rnwn -
$ND 1) IV NYIIN 1T NIPIYNT (3,0 91 NAYT NP P92 1999INRTD

As the X713 says in the first P92 of naw noon that originally they decreed

7xmw only for touching the soil of 2°»yi ¥R, but no more. There was no
7713 on ¥R PR K. The mawn in m»ax reflects that time period. Later however the
2’121 were 713 on 771"K as well. This is what our Xn3 is referring to.

SUMMARY

The m1wn in MR states that there is no 97X NXMWY in 27y YR, There are
various ways to reconcile that 71wn with our X713 which states that yIX MK
DAY 1S KA.

If we assume that 797X DR is not because of 2°7Rn, only because of "X
MY, then we can say that the m1wn in M77R is discussing either a case where
a clump of earth from %" was brought into *"X; or that there was an 27X

7 "1 maintains that 5% nXmv applies only to PXw* *12p not to 2™y *712p. This is based on the *3 o7X P19
(7> ,o° npn) PaRa N from where we derive 2aR nkmv. The Poo states 07X and only *"13 are called 27X not
y"mX. See ‘Thinking it over’ # 3.
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partly over 7™ and partly over *"X. In both cases there is no XMW since
there is no D MY ¥R MK only Do ¥R DY iRy,

If we assume that 2977 ¥R DRMIV is on account of 2°7IXM, we can say that the
mwn in MR follows the opinion of w"9 that %7R2 PRHYA 1R "DV *12p and
by extension neither is 2°»Y7 PIN.

Finally we can say that the mwn in MnX was said prior to the 77°1 on 777X;
when there was a 77°7 only on 7w,

THINKING IT OVER

1. The previous MdoIN discussed the query in 7711 if 2MYT ¥IR IR 1S KA
because of °7Xn or because of 1%y KR, Does the y7°n of w"1°%7I87 °" (and
the subsequent y17°n) indicate that the 7awn in M77X is assuming the view of
MY X as opposed to W Py PRn?®

2. What is the dispute between the w"1»>7x7 > and the n"1?’

3. If we maintain that 5™ 27X is Xn0 because of M¥Y "X (and not 2°78nN),
would """ agree that 5" 9K is xnu?'!

8 See ™ w 0" TR R"WAIR.
? See n'"m.
10 See footnote # 7.
' See ayp mx *"oa.
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